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1) Multiply the following.  

8 2                    9 6 
x 3                    x 7 

        -----                 ----- 
        -----                 -----    
        

2)  Multiply the following numbers. 
 
4 2 4               7 5 6  
x    2                     x    8 
------                    ------ 

     ------                    ------ 
 
3) At a zoo there are 45 deer. Find out the total number of legs 

of all the deer. 

 
4)  40 apples can be grouped as  

8 groups of 5 apples OR 5 groups of              apples. 
 

5) Fill in the boxes. 

50 ÷ 5 =                
68 ÷ 4 =  

 
6) Divide and verify the answers. 
 
     802 ÷ 2  2610 ÷ 6    

       
7) Fill in the blanks. 

         36 × 11 = __ 
         36 × __ = 396 
         396 ÷ __ = 11 
         396 ÷ 36 = __ 

 
Multiplication and Division Worksheet 2 
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8) Complete each family of facts. 
 

 
 
9) State whether true or false. 
a) A multiplication problem will have a remainder. 
b) Division is repeated addition. 
 
10)Fill in the blanks for the following multiplication problem. 
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1) 246 

672 
2) 848 

6048  
3) 180 legs 
4) 5 groups of 8 apples 
5) 10 

17 
6) 802 ÷ 2 = 401 

Verificaiton : Quotient x Divisor 
+ Remainder. 
401 x 2 + 0 = 802 (Remainder 
is 0 here.) 
 
2160 ÷ 6 = 435 
Verification: Quotient x Divisor 
+ Remainder 
435 x 6 + 0 (Remainder is 0 
here). 

7) 396, 11, 36, 11  
8) Refer the diagram in the 

solution. 
9) a) False 

b) False 
10) Perform the multiplication on 

given operands. 
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1. Decimal fractions were first invented 
by the Chinese. 

2. Decimals are based on the 
preceding power of 10. Moving from 
left to right, the place value of digits 
gets divided by 10. 

3. On multiplying a decimal by 10, 
you can simply move the 
decimal place to the right. 
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